離散數學第十四次家庭作業

教師:江清水   助教：張筑鈞、陳映文

範圍：§8.5~§8.6
Due：6/23  7:00 am

以下為單選題，請於網路e學園作答：
8.5

1.
Which of these relations on {0, 1, 2, 3} are equivalence relations? Determine the properties of an equivalence relation that the others lack.

a) {(0,0), (1,1), (2,2), (3,3)}


b)
{(0,0), (0,2), (2,0), (2,2), (2,3), (3,2), (3,3)}

c) {(0,0), (1,1), (1,2), (2,1), (2,2), (3,3)}

2.
Which of these relations on the set of all functions from Z to Z are equivalence relations? Determine the properties of an equivalence relation that the others lack.

a) { (f, g) | f(1) = g(1) }


b) { (f, g) | f(0) = g(0) or f(1) = g(1) }

c) { (f, g) | f(x) - g(x) =1 for all x є Z }


d) { (f, g) | for some C є Z, for all x є Z, f(x)-g(x) = C }

3. 
Which of these collections of subsets are partitions of {1, 2, 3, 4, 5, 6}?

a) {1, 2}, {2, 3, 4}, {4, 5, 6}
b) {1}, {2, 3, 6}, {4}, {5}

b) {2, 4, 6}, {1, 3, 5} 
d)
{1, 4, 5}, {2, 6}

8.6
4.
Which of these relations on {0, 1, 2, 3} are partial ordering? Determine the properties of a partial ordering that the others lack.

a) {(0,0), (1,1), (2, 0), (2,2), (2,3), (3,2), (3,3)}


b) {(0,0), (1,1), (1,2), (2,2), (3,3)}

c) {(0,0), (1,1), (1,2), (1,3), (2,2), (2, 3), (3,3)}

d) {(0,0), (0, 1), (0, 2), (1, 0), (1,1), (1,2), (2, 0), (2,2), (3,3)}

5.
Is (S, R) a poset if S is the set of all people in the world and (a, b) є R, where a and b are people if a is taller than b?

a) Yes
b) No

6.
Which of these are posets?

a) (Z, =)
b)
(Z, ≠)
c)
(Z, ≥)
